April 09, 2013

Do-now: Turn in HW.
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All three triangles are similar because of ﬁ H
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longer leg

hypotenuse
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shorter leg 9

hypotenuse C
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longer leg

shorter leg
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SIMILARITY WITHIN RIGHT TRIANGLES
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SIMILARITY WITHIN RIGHT TRIANGLES
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Find the value of x.

IOH&( (zi X 5
X hn?d\cmse- 9 = X

9 | )(2':""5

x < 5
= Yo
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Find the value of x.

§\\odesv\-le5 X 4

4 h‘dP- i 1 -x-\-L
6 - X )(()(*-b) -G
\/"b\/ Xl“'bx =6

X+
Xz+6x-\lo =0

X+R)(x-2)= 0
£ =)
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Find the value of x.
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Classwork:
On looseleaf (what you do not finish in class should be finished for HW)

page 394 - 395 #s 15 - 20, 49 - 51
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